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We learned in the mwn» on X"y X" 97 that if a noo j27p is Shechted both
for people who are and are not eligible to eat from it, the j29p is 7w>.

One example is 37@\/

W YW b -

The Gemara referred to this Halachah as Wwa - n*‘awv‘n o¥ob

7700 N5 P 5o N> 1D nIpn
Our Shiur began with the Gemara presenting a Xn»12 with a differing

opinion. o

It depends on which nm> came first. QRIN 2NN s*:n

W W5 OO DR DR DN NI - =Latrry airn
Ifhe first had mm> for o5 and then had nan> for o5, it is w>. D95 Dby D’Z7'IJJ5 oYo91a

5100 OS5 0w -
If the nn> for the uncircumcised people comes first, the 1237 is S0,
The X0y offers three ways to understand this distinction:

First -
The xn»72 holds 1
902 KOR AVIS PN - 7103 NON TS PN
Only the last moment of 7v'nw is Halachically considered the act of 8
nonw

. The xn»72 - which is 7R ™ - also holds [“03'\ ]“”'7 o1
ORI WS O1ON - [=Lafpi! D"Tp
When a person has two contradictory statements, of which only one D”Dmb :1”71:} D”"ljb D”)m
can take effect, we go by the first. Therefore, when his 73 for oom
came first, the 1277 is 7w3 - when his 71 for 57 came first the
1297 is Soo. gl
Tosfos speaks out that our Mishnah however holds

910 7V 75N monw’ N’ - the entire oNW process is Halachically Our Mishnah holds
considered part of the 7o'nw. Therefore, since both can be 5, even q0 7N eblpiv)p) DU’Dﬂb (b}
according to R» 1 we do NOT say pwr pwb o1on - rather both

Since both can be5n

ma are 5m, and the Korbon is 7w> because
7509 N5 15 NEpPD. even according to YR»"

we don’t say RN W5 ©ON

Second -
VO TV APNNN TNV I LIR30 .12 DR - 2
Rabba says that the Xn»92 also holds the entire 7o’ mw process is AN *920P ...M27 AR
Halachically considered part of the 7v'nw. However, the case in the f]]D ™I '1771'[3'179 "[U’ﬂwb piiok
N2 is where he had in mind to Shecht for both 97 and 5, but .
only had a chance to say 057p before finishing the nonw. He had in mlnd He ] l(?l‘] m mlnd
The x5v13 holds oo oHw oM W
D 1301 70 12 N - But onh/ said But onh/ said
In order for his words to be effective we do not require his words (m} ,jp y, P ,]73 p;
and his thoughts to be the same, and we only pay attention to what o1 )5 [ 70 /,}/,, t/
he actually said. Therefore, it is considered that he Shechted for
57 only, and it is 5700. Where he only said P55, of course it is said
>,
Our Mishnah however holds Our Mishnah holds

. 00 1291 19 rva - D 12 PO Y3
2(1)1;1(1)1;3 statement of 0>y only is not 5, and it remains a combina 205 p ,6/[/0 ,[ /

W YW DM,

wn
RPTTY

Mishkan
Yecheskel

N

Dedicated By: DafHachaim.org Pesachim 63 -1




wvn
RPTTY
Mishkan

pl= nl=Ngi=h]

The x) rejects this explanation, because R» 3, who is the author
of'the Xn13, holds in a mwn regarding 7 that

DWW 1A% PO YA -

When there is a contradiction between what a person says and what
he means, it is as if he said nothing!

D57Y R 10 101 POINS ORI PO TORT RW™ AR IR KON -

In the first case he intended to cut the first one of the ou>o for Pow
only, and the other for both 5w and o7y, which is Jw>.

In the Xo'0 he cuts the first 10 for 57 only, and 7x» " holds
PNn A PN -

An invalid thought can disqualify a 1297 even if he only has the
thought for part of the 37 - in our case the v nw.

Our Mishnah however holds

NN XA PION PR -

Therefore, even where he cuts the first 120 for @57 only it is not 5n
- and it remains

W DWW Oomb.

The next mwn cites three opinions about what it takes to violate the
NN of

M2t 07 P10 5Y VIWN RS - Shechting a 1297 while you still have pnn:
-1- VYN X2 321Y YRR HY NOON NR VMWYA -

The xnp Rin holds that Shechting a noo 123 while one has ynpnis a
violation of this nwyn X>. The 185 applies to noo 1277 only.

-2- PN AR IR AT 2T -

nm " adds that even Shechting the 0277 pabw 71N of HOO 27
while he one has ynri is a violation of a mwwn X5.

N

X

TP
the author of the X2
holds regarding m>n
f)’/g //D/ /0 /'}/'3

3
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MY 110 MY D)
P DYoo a8
Our Mishnah holds
PN RAAPION PR
2> oS I

3 OPINIONS @/éﬂ

What it takes to violate
syt e varn D b NG

A 2" NP Nin
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-3- 277 1DWY TWY APYIIRI HOOT IR PYDY 37 -

R’ Shimon holds that if he Shechts the mwh noo 1297 on noo 17 while still
in possession of ypr it is a violation of the 185, but

M0 MWH ROV -

If he Shechts it WY 85V, he's M09, because W *17 holds

OV AW KD IR APRY 7MY -

Since the 1297 is %109, it is not considered a nonw.

MO0 WS ROW P WS P onam 5 R -

The Gemara on R"» 70 97 says that py»w 17 derives from the Posuk that the
XY applies to all other Korbonos, but only ON nos, not nos 17v.

noo - On noo, the Halachah is as follows:

N0 MY -

If he Shechts the mwbH noo 1295 he's M09, because it is 5109, and therefore a
IR PRV NONY.

2 KW -

Because a 131 308> 109 is a ondw and W -

271 WS ROW P2 WS P DR 5 IR -

Because they are 7w3, and the x> applies to all miap -

WY ROV JOMWW NROM 2 PIN -

Because a w5 X>w nron is 9109, and therefore a R nyRw nONW -

The 82 has a np>nn where the yon has to be in order to be 721 the
RS of
2T DT Y11 Y VW RY:

ANV MY RTW TV LLWPD 12 PYPY 737 IR -

Reish Lakish holds it is only a violation if the y»r is in the 77.
AP MY IPRY 2D HY AR IR A T -

R’ Yochanan holds that the 772y is violated even if the y»r is not in
the 7.

The X3 has two suggestions as to the basis of arguing:

»5omrp LA HY-1 -

They disagree whether the word v in the Posuk o7 y»n by vnwn x>
’nat means that the y»n must be nearby or just that it has to be in
existence.

Even though they already argue about the definition of 5 in the
context of whether the 77in 5 need to be in the 7w in order to
become w1Tp, there is more reason to assume that the 7710 "> have
to be in the 771 in order to become w17p, as opposed to the MOR of
having y»n where the location is not as important.

N
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WHERE the Y has to be
to be 12
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2 SUGGESTIONS

as to the basis of arquing:

1
wbmap o2 by
spnind iy i b Lyt b
Nearby or Anywhere?
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whether
the mmnnnb need to be in the v
in order to become W11
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The X3 also entertains the possibility that
“OOMP PO NRINAI -

They disagree whether a doubtful nx7n71 is considered a valid p

AR, 790 ININ"2
In this case where even if he violates the nxInn and Shechts it we l ” D’?ﬁ“’
cannot be sure that he has violated the Wo’R, because the y»r is not 4

here, and for all we know it might not exist anymore.
The X2 rejects this, though, because we already have a npbnn )
between pnv '3 and w5 W whether poo nxann is effective. We cannot be sure he violated the o'

because the y1r is not here

X

We already have a npom»
between w5 WA & pAv’a
Whether poo nxann is effective.

The Gemara continues;

MM 320 TARY 1D W omwH O PR -

Even if the omw himself has no y»n, but one of the people registered

for the 1297 has y»n, the 17o°N is violated because the p109o does not
. say 311 5 on your ynn, but ynr Sp on any pnn.

M 19 PN
M990 2331 TN 15

However, the 7o' is only violated if somebody who would be Ttd t P
subject to the 170’ of leaving this 1277 over past its time, would Oes Not say ul

have ynn, because the 770 juxtaposes pn 5y vrwn RS with P K. j&}:ﬂ 1:&] “\’}:ﬂ B&J
YOURYPR ANYYRR

X

Somebody who 1s subject to
the WOR of 72X

Therefore if the 175 who burns the 25m owns y»n at the time of nonw
itis also a violation because he is included in the MoK of P> &Y.

syt 7 ovarn ol ot NG
~ia%a i Y b 195 N

Therefore

‘ He violates the 77O
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